Why Berkeley rejected Locke’s doctrine of abstract ideas?
Because according to Berkeley mind is incapable of forming abstract ideas. We can imagine or represent to ourselves the ideas of particular things we have perceived and we can variously divide and compound them. But we cant, e.g., find any abstract idea that may correspond to the description of a Triangle which is, “neither oblique nor rectangular, equilateral, scalen” or so on. Likewise, we cant frame the idea of motion distinct from a moving body and which is neither swift, nor slow etc. An idea becomes general only when it is made to stand for all particular ideas of the same sort. 

Why Berkeley rejected the existence of material world?

Because Idea of world without mind, that is, of a real world of matter is a kind of abstract idea which is impossible to form. We separate the sensible objects from their being perceived and conceive of matter as existing unperceived. But such unperceived existence is impossible. We can’t see or fell anything without an actual sensation of that thing, nor can we conceive any sensible thing or object distinct from the sensation or perception of it. 
Elaborate esse is percipi.

To be is to be perceived. That is, to be in mind. Bodies, have no existence without a mind; their being consist in being perceived or known; so long as they are not perceived by me or don’t exist in my mind or that of any other created spirit, they have no existence at all, or else exist only in the mind of some eternal spirit. It is contradiction to say that matter exists unperceived by any mind. 

How by rejecting materialism Berkeley avoids skepticism?
Doctrine of matter is a source of atheism. If a self-existent, inert, unthinking substance is the root and origin of all the things, and all that we can catch it of is its appearance through senses, then the problem arises, how far our senses can give the true picture or real qualities of that substance. This distrust of senses lead to skepticism. In order to avoid that, Berkeley refutes existence of any extra-mental reality altogether. 

Why Jainas consider jiva as substance?
Jiva is a substance (dravya) because it undergoes modifications and assumes various forms like other modifications appearing in all the three times; and that which undergoes modifications and assumes various forms is called a Dravya. 

What is Dharma in Jainism?

Dharma is a substance which itself does not moves, nor does it impart motion to anything but helps the moving jivas and the pudgalas in their movement. It is formless and without any qualities of taste, color, smell etc. It pervades the entire lokakasha. It is eternal and indifferent to motion (gati) and modification (parinama). Ajiva in opposition helps things to be at rest. 
What is Buddhist theory of knowledge?

True cognition is the apprehension of an object (vishya) which is beyond doubt (asamdigdha), free from error (aviprita) and has not been previously known (anadhighata) and so falls outside the scope of memory (smriti). 

Why Hume rejects causation?
Because experience never shows us any power or necessary connection which binds the effect to the cause and renders the one an infallible consequence of the other. Objects/Events are necessarily connected, but the ideas pertaining to them are connected in our mind by association. This association is the result of repetition, of custom or habit. It is not logical, but psychological necessity that depends upon experience. 
Why Hume rejects the notion of Substance?
Because we have no idea of anything but a perception; a substance is entirely different from perception; therefore, we have no idea of a substance. Substance as a self-subsisting substratum of qualities is a figment of one’s imagination, a specter in the dark. 

Why is Hume a Skeptic?

Because for Hume, we have no absolute, self-evident or certain knowledge of matters of fact; our knowledge never reaches absolute certainty. We base our conclusions on experience, we believe the future will be like the past, but we have no absolute assurance that things will not change. 

How does Hume reached Skepticism?

Going by empiricism Hume draws the conclusion that if our knowledge is limited to impressions and their faint copies or ideas, and the self is a mere bundle of sensations, we have no universal or necessary knowledge: the notion of cause is reduced to the idea of temporal succession; and the consciousness of necessity accompanying it, to habit or belief; it is illusory to assume either a spiritual or a material substance as the cause of our sensations. Thus, no knowledge of anything is possible. The result is skepticism.

Why Hume doubted upon the existed of external world?

Because the objects of all our knowledge are impressions and ideas derived from them. There is no evidence that these are caused by external objects, or an unknown substance, or by ourselves or even God. Impressions and sensations simply appear and reappear in our experience. No certainty about their origination from the external world can be maintained, therefore, it is possible to doubt upon the existence of such a world at all.

Explain Hume’s notion of mind.
Mind is nothing but a heap or collection of different perceptions united together by certain relations, and supposed though falsely, to be endowed with a perfect simplicity and identity. 

Describe Dharma in Buddhism (Vaibhashik).
Dharmas are the ultimate entitites, material and mental, having specific characteristics of their own, out of which, skandhas are formed. These dharmas collectively produce objects, but not singly. These are produced out of conditions and causes. These dharmas, including even consciousness, are momentary. 

Define Syllogism.
A syllogism is a kind of deductive and mediate inference which contains two premises from which a conclusion is drawn. It has three terms which occur in the premises but not in the conclusion. The conclusion so drawn is valid or invalid, and not true of false as syllogism is concerned with only formal validity of the conclusion and not material validity. Predicate of the conclusion is called Major Term occurring in first or major premise, and subject of the conclusion is called Minor Term occurring in second or minor premise. Its general form thus is
 
M 
P
- Major Premise


S
M
- Minor Premise


------------


S 
P
- Thus subject comes from minor, and predicate from major premise

Define kinds of Syllogism.

A syllogism is of two kinds – Pure and Mixed. That is, 





Syllogism





    1


---------------------------------------------------------------
1 Pure                                                              1 Mixed
1. Categorical




         
1. Hypothetical Categorical
2. Hypothetical





2. Disjunctive Categorical
3. Disjunctive
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What are the rules of Syllogism?

There are 6 rules of syllogism:

1. A syllogism must contain three and only three terms

2. A syllogism must contain only three propositions

3. The middle term must be distributed in at least one of the premises.

4. No term should be distributed in the conclusion if it is not distributed in the premises

5. From two negative premises, no conclusion can be drawn

6. If both the premises are affirmative the conclusion must be affirmative and if one premise is negative, the conclusion must be negative, and vice versa. 

7. From two particular premises no conclusion can be drawn (corollary rules)
8. If one premise is particular the conclusion must be particular

9. From a particular major premise, and a negative minor, no conclusion can be drawn.

What is the explanations for the rules five?

Rule 5: From two negative premises, no conclusion can be drawn – If both the premises would be negative predicate would not distributed in any one of them. Conclusion would be valid only if its predicate would be distributed in at least one of the premises. Middle term in this case would not be connected to either major or minor term bringing out no relation between subject and the predicate, and therefore no conclusion follows from the premises.

What is figure of a syllogism?

It is the form of the syllogism as determined by the position which the middle term occupies in the two premises. As there are four possible positions of middle term in two premises, there are four possible forms. 

Define mood of the syllogism.

It is the form of syllogism determined by the quality (affirmative or negative), and quantity (universal or particular) of the premises and the conclusion. As each figure has 16 possible combination of premises according to quantity and quality we have 64 possible moods in each figure and 256 total moods, out of which only 24 are valid moods.
What are the rules to construct syllogism in figure 1?

1. The major premise must be universal
2. The minor premise must be affirmative 

(it give us 4 moods of AAA, EAE, AAI, EIO)

Called Barbara, Celarent, Darii, Ferio

What are the special rules for figure 2?

1. One of the premise must be negative

2. The Major Premise must be universal

(it gives us 4 moods of EAE, AEE, AOO, EIO)

Called Cesare, Camestres, Festino, Baroko


What are the special rules for figure 3?

1. The minor premise must be affirmative

2. The conclusion must be particular

(it give us 6 moods of AAI, AII, IAI, EAO, OAO, EIO)

Called Darapti, Disamis, Datisi, Felapton, Bocardo, Ferison

What are the special rules of figure 4?

1. If the major premise is affirmative, minor must be universal

2. If the minor premise is affirmative, conclusion must be particular

3. If either premise is negative, major premise must be universal

(it give us 5 moods of AAI, IAI, AEE, EAO, EIO)

Called Bramantip, Camenses, Dimaris, Fesapo, Fresison

Define Predicable.

A predicable is the relation of the predicate of an affirmative proposition to the subject of the proposition. It is a way in which the predicate is related to the subject. The predicate of a proposition is what it is, the predicable is the relation between this predicate and the subject. Like the distinction between ‘being a man’ and ‘being a husband’ where second is a way in which man relates to other individual. Aristotle gave four predicables of species, genus, differentia, and accident to which Porphyri added one more of proprium or property.

Define Laws of Thought.
Laws of Thought are the fundamental, formal, a priori, necessary and regulative principle of correct thinking without which no reasoning is possible. All our thought, if they are to be consistent, must conform to these laws. Aristotle gave us 3 laws which are Law of Identity, Law of Non-Contradiction and Law of Excluded Middle to which Leibnitz added one more of Law of Sufficient Reason. 

What are Kant’s antinomies?
These sophisticated propositions which can neither be confirmed, nor be refuted, or the judgments where both thesis and anti-thesis can be proved with equal cogency. The 4 antinomies given be Kant are: 1) world is eternal and non-eternal, 2) matter is divisible and indivisible, 3) everything is caused or not caused, 4) the god exists and does not exist. One take any position according to one’s tastes and does not require to prove that, for equal proves on the opposite side are always available.

Define Moral Law.

It is categorical imperative, universal, a priori law binding upon the man unconditionally. It extols duty for duty’ sake and asks man to do only that which he can will to be done by all universally. 

What is hypothetical imperative?

It is commandment of reason that applies only conditionally: If A, then B, where A is the condition or goal, and B is the action or result. Thus, HI is not justified in itself, as the result always depend not on itself, but the condition laid out for it. It is subdivided into: rules of skill and councils of prudence. Former are conditional and specific to each and every person, latter are a priori and have universal goals like happiness. 

What is categorical imperative?

It is an absolute, unconditional commandment of reason that exerts its authority in all circumstances, both required and justified as an end in itself. It is called therefore Moral Law and is expressed in the maxim, ‘Act only on that maxim whereby you can will that it should become a universal law.’

Define utilitarianism.

Given by Bentham, it is the idea that moral worth of an action is solely determined by its contribution to overall utility where utility is the pleasure that any action affords. It equates good with happiness or pleasure and pain with evil. Its four sanctions or sources are physical, political, social and religious among which physical is the most important. This utility can be quantitatively weighed by weighing intensity, duration, certainty, propinquity, fecundity, purity and extent of the action. 
Define existentialism

Existentialism is a philosophical movement which posits that individuals create the meaning and essence of their lives. It posits existence before essence. It gives prominence to man’s passionate and esthetic nature, to his feelings of anguish, love, guilt and sense of inner freedom. It vouches for the complete freedom of the human being, who is fraught in critical situations all the time. 
What is the need for postulating the Samvaya relation in Nyaya?
It is because of their pluralistic realism which takes distinguishable as equivalent to different. If a dravya be altogether distinct from its attributes, particular from the universal, the material cause from the effect and they are yet found together, they must be related; and the relation itself must be unique since one at least of these in each pair does not exist apart from the other. 

Why is need to have Abhava as a category in Nyaya?

Because of its realistic position. If all knowledge points to something outside it, so also should the knowledge of negation to and imply its existence apart from such knowledge. Here also knowledge must be different from the known. Thus, absence of knowledge is not the same the knowledge of its absence. By abhava should be understood only the negation of something somewhere and not absolute nothing (shunya) which Nyaya dismisses as unthinkable. Its 4 varieties are pragbhava (prior non-existence), dhvansbhava (posterior non-existence), atyantbhava (absolute negation), anyoanyabhava (mutual negation). 
Define Nyaya’s realism.

Nyaya believes in the reality of everything that can be cognized. Because we are able to perceive with the help of indriyas and manas, substance, universals, samanya relation, some gunas and karmas, and also abhava, these all are real. Atoms, however, can not perceived, but inferred. 
Define epistemological realism.
As a subclass of Objectivism, it states that the object of knowledge is distinct from and independent of the act of awareness. It is related directly to the correspondence theory of truth which claims that world exists independently and innately to our perceptions of it.
Define epistemological idealism.

As a subclass of Subjectivism, it states that what we know about an object exists only in our mind. It makes no claims whether our sense data are grounded in reality or not. 

What is neutral monism?

Advanced by Russell, it states that the ultimate constituents of reality are all of one kind (monism) and are neither mental nor physical (neutralism). Individual minds are certain selections of neutral entities; material objects are other selections. Knowledge occurs when there is an overlapping or partial identity of a mind and a material object. 

Define Pragmatism.

According to the pragmatic theory, truth can be known only when one knows the practical consequences which would result from the truth of the expression, and these consequences are testable. The truth of a belief is tested by its results when it is put into operation and has satisfactory results. William James, 
Define Coherence Theory of Truth.

According to it, truth is a property of an extensive body of interrelated statements; hence, statements have degrees of truth and falsity. What is said is true if it is logically derivable from a system of other things that are said. A statement is true insofar as it is a necessary constituent of a systematic whole as in Euclidian geometry. Willard Quine
Define Correspondence Theory of Truth.

According to it, an idea that in accord with a fact is considered true, and one that is not is considered false. The truth of the conclusion of an argument is logically derivable from the truth of its premises. A statement is not known to be true if the fact corresponding to the statement is not, in principle, verifiable in some manner. 

What is Krishnamurti’s conception of freedom?

Freedom is not choice which is the movement of thought. The free and intelligent mind does not choose. Only the conditioned and confused one chooses. Freedom is not an abstraction. It is action devoid of conditioning and contradiction. Freedom is the same as the truth. It is the nothingness of the mind It is the mind which is empty of its psychological content, the ‘known’, which is put together by thought. It is the cessation of the messy -and the chaotic consciousness which is self-centred, self-contradictory and the source of sorrow. Freedom is the mind which is the ‘Unknown’.  The free mind is devoid of the centre, the ‘me’ and the circumference, the limitation. It is without boundaries. It is infinite, eternal, global and holistic. It is absolutely stable and orderly. Its order and stability are not determined by thought. The free mind is one with the Cosmos. Cosmos means stability and order. The free mind is a meditative mind. Meditation is not the process of thought. It is not a concentration on a fixed goal. It is not a means to an end. Meditation is the movement of the mind in the stability and the order of the Universe.  The free mind is truly religious. It is truly secular as well. It does not belong to any religion or nation. Truth is its ’spirit’. World is its home. The free mind is full of love. Love is compassion. Compassion is passion for all. To love is to be ‘alone’. Alone means all are one. To be alone is to be one with all.
